EARAROBEEIERT — 2 N— IBISH —F

20194E3A30H (&) 12m7KIR4H

KW C2+=# ¥5%—H (w8 | mEmml - |5 ) oom
[AE4£] 17 :200,000" ~ 23#%&:52,000”  33&:28,000” 437 :20,000MH .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- . KiFiE :27. —5—4— . — Bk (BXE)
ils5l5/=v7770a> o6 = 1(2_7)1 5-5-4-2 | 40.4 2 (4_619) s
R:TA—T4FAF—ZH¥> B:Y4—HIN1O— E3-%e]
: : ROB— .7, - 3| - RS (KOR)
217l 9 JN—TILO— X % 7 e 1(237)6 1-1-1-1 | 41.3 8 (4:120) e
L ZRFAd—IR BiN—X k=1 — TS
o mlRE . -3-3- — iR (&)
3lgli| aIxEXTTRL i 5 el 1.(248).3 2-3-3-3 | 41.8 3 <4+920) it
R:TA—FAFAF =YL BALTLIE—F 2 %5
= 6 | BERRRE :28. —4-5- . — #HEE (KR)
4 3lm1>352507 Loy i1 (/3&;)3 2-4-5-3 | 41.6 6 ;1:323; R
RixvyyUgdyk B:y—4-0-X HAKIS
= = N B2 : ~9-9- — REILET] (BXME
5 717 SAFATIINY 4 4 o 1.(228).6 7-9-9-8 | 40.9 4 (4_132) /Jﬁ\ﬂtg,im
R:7 R34 YAV —-> B:TS5A74T748—7 f¢e]
o HER :28. —7-6- . — ZHEE (KR
6 4| 7A—RT 1=K H o7 s 1(228)9 7-7-6-6 | 41.8 1 (4+557) R
L:Er/n7a4 BIAMYETAUH—F EUE L EUN
o 4 o5 | BINIE :28.9 1M-11-11-11{ 40.4 | — 7 466 | TEETAZ (BERE)
7011 |7=Fv7 5.0 ) G |1mEEE
L ZZH= R B:IT7TrLF EiEirse]
SYE 4 4 | $7KHA 1:29.0 10-10-10-10{ 40.8 | — 1| 469 |MEWLES (EkF)
8 6| 7v/70—F 54.0 (3/4) © W) 224> kT
R:viNyBLHT1 BEYZ-—IANRTLY HRHT 77— L4
47 | AR 1:29.4 2-2-2-5 |43.0| — 9 490 | VEBEBUE (BERE)
9810/ A¥F1— 5.0 21/2) o) | BLBR
R:Z&F2—FTUNT4 B:yavFer7z—0 Ex ke
Sl it 4 | BAK 1:29.5 7-8-8-7 | 42.0| — 5 431 | =EHEE (KiR)
EE 2| 7= '7 142X £252.0 (3/4) (+0) | RBEIRS
ANRRTNG BT T+ =ToH—-T KIS
- o= it 4 | BRMEE 1:30.1 6-6-7-9 | 42.8| — 10 | 452 |REEFIB (KIR)
1117/ 8 YvZ>~vr7r20-— 54.0 (4) +2) +HAET
:Aa-I>79U> B:YIZLIXTIUb EH Stk
® I —F—@EBIERL
13—7+— 9,(3,10,11),5,8,(2,4,7) ,6,1
2= = 9,10,11,3,5,8,4,2,7,6,1
Gal=5r= 9,10,11,5,3,4,8,2,7,6,1
40—+ — 9,5,(3,11),10,4,2,7,8,6,1
[ N3
B OB 5 710H 714K 5-9 3,890M % E 5-7 11,810M 3EHE 5-9-11 33,700/
8 B 5 130H4 5-11 200M B & 5-9 30,250 K31 5-9-11 285,980
9 1,180 9-11 4,460 B H 5-9 53,000/
1 200M

ABICOVWTRDTEEERROODE. TR LIV,




